%ﬂﬁﬁ%mﬁﬁ R6 - 7%‘ SM6FES5H 148

(L HIR A Fn64E5 A 7TH ~AFf164E5413RH) AR K PEERRBR

B
U E it B, BREIBHTIZ30~ A/ (BTREV10~A/L ) [T o TIRoRft R |, BRI
TIX60~A/N (RTREV 15~ ANAER) FHEIZH > TID720BERE LT3,
REARIL, B#REIZ23~25CH, LEBRFERIZ20~22CH T, NEEWL | THEBL TS,
EEBOROREH AR, 135 (RRIFM) 1223, 1°C, 125 (&) 1321, 1°C. 105 (EF ) ik
21. 8 CTh-oT~,
M

PN (LB 28980) - EFIREZ (R - =7 N8 O SCidikudkSBiT L, RIEBIWED ORI,
B ~AET <P 070 (1 B 18 247-010kg) DASHT,

TINAW (Z898) « TEBOZEENIKET L,

VA e o (AR -IER) . BEFREIORBIRIT. Bl~2285 V41, 3 (Fl61kg) . EVH
0. 2k, FATHLTHDOKET, IEIE~31E 42, Obr ([F64kg) . BV Z0. Oh DA, HHELRE
WOBEWIT, FAE~14EDV2F0. 618 (Fl4lke) . EVZ0. 1M DAET, EB~15%80 V41, 2b ([
83kg) . L #0. 5br ([F32keg) DT, RIFBWEDDRMEIRIT, TEFBK~STELY A4, 28 (F73ke) .
v#3. 3h ([F58kg) . IV THhDKBGIT, InFEFESVIX, IKHOFH~285Y40. 7M. ([F350ke) .
vV #0. 8h, VLT OGS, FEOFHE~SEL YA 33, 1M ([Fl4, 143kg) , BF4. 8bhr, IV
b ENDOKET, AL~5EHYVA9. 6h (F1, 919kg) . BV F1. 4 DKRBT, FBE~2EHYF6. 3k
(A3, 163kg) . B> Z2. 1N DAET, BERD HETEK~14E 0418, 9h (A1, 347kg) . B #0. 8
ko, AT EROKEGT, REIESEVIIEBE~1EHYF5. Th B H1. 4h DK, TEBKITK
BT, IR~ EBIRIT, FIE~1EX Y (OF) 14RDOKET,

AVHM(RAER)  BRIRE (HEEK. T2INL) DA HRIIKE TR,

VIR (T . HEBOTTRRIL, WEORIE~3581. 1M (1 B 1§E%7=029ke) DABIT, HED
FRIFHT~3#E0. 2> ([F180kg) DAKZIT, SHIIABT 2L, WO BEHIIABIT 2L,

VATEEMR ¢ 2EBOVATEEBRIIFR/EA~TEL (73, 4h (1 B 18%7-0485kg) DKBIT, FEE~1
#3450, Sk DXET,

ANVALAW 0 BN (B ISR« B K) DAV A F KBTI L,

REEBEM « ZRTERE (BHE) DRIFERIT49. 8h, AREHITIL, 7V (FUiR) 14K, 7Y (AP k)

2, 5284, =74, 9R, Y NHO. 8hi, T AF13. 2h FANFT. 2R AV H6. ORADKIBIT, 1%
TERE (2HE) DRIFERII33. Th, AENITIZ, 7V (TVR) 174, 7V (AVa#k) 2074, =75, 2
ro B8, 3R UL ALT L0, Bh, AP H12. B VT V2, 5h AT, ORI AMD AT,
hRIEEME . FEADOREFEBROKRIEERIL, 7TH33. 8h (1A 15 %7204, 8h), AFERITIX,
< VT P Ph, UNALT S, A TAFZTF AT 30. 2h DK BT,

T4
B, RIEBIRHIITO0MEE ] EFIRHILTELBER ] CTHBLED,
REKIRILT, TEBRFBIXEEL ) THBLED, (FEE: HEBRFR21ICERTH)

[ERER]

=HIR(5H4H~5H10H) Tix, HYMETI6. 3L (=765, 3h/, 3 JH18. SR/, U ALTT9. OhY,
2IVT V2. 2k AT UHHO. 6h, AVHO0. AbA) DKBIT, BB TL6. 2h (VTR 1374,
=TT, 2b, Y AT1. Abv, <& A40. 6b, F3HO. 1RAAh) DAKET,

HIFR(BGA2H~5A8R) TiX, FEMTL12. 2h (=TV12. 2b) DXKBT, BRI TO. 2h (FANF0. 1k,
HIF DT, VAT ThMh) OKBIT, EEETT V(T VK230FRDKET,

FIFILUR (4H 198 ~4H25H) TiX, FEMT23. 1M (=722, 9hy, F38H0. 2hAh) DK BT, RAET
91. 9k (488, 8hy, FNF 1. 9, EVFH 1. 2hAh) DAEBT, S~y FHETIFR2. 5hDABIT,



o L7 . & T T \ Ty
p 132° W o 1~ 134° 135° IRRIEREE)
2 *£ m oK R
3 3 v (5ATH~5A13R)
. /ﬁ A It kIR
#EESR No.13 5/12~5/13 | =
BEBRY —EREU 58— 19 F® ([ B
! - - 20 = = &
i
21 091041515
=1 = B
23 29 33° — =
l_=;,9 1_£ 217 | =
24 = | = U
L6115 ono| ™
= | = K
H
061031514 &
R #
- 03|05 w
32 & | & | 207 7/
=
1d=',_1 218| F
™=l [}
&
091111203
= | = i
128
04035 ; |1
b - S = 2%
7 F BE A A
B i,ﬁlﬁﬁﬁﬁl I A | &Y (253 O_;S 218 10 &
25 35 658 RS 2%
R e oo B P
03|06 138
- 23.1
\ \ = | K =%




BEBRIRES SETHAR 2024%5R7H ~ 2024%5R13H
. o~ B 1H1& p2X i 5 #
(X A 5/7 5/8 | 5/9 | 5/10 | 5/11 | 5/12 | 5/13 | @&t RES (A4 [[(BiK. BER)
A v R — — — — — - — — -
G 0% 0
H N VA SR — — — — — — — - — IVHNEYY R Y
(F F) 08 *n ~
H N i 8 I=pal=t — — — — — — — — by — IVHNELY R Y
(hOFEsR) 0% 0 ~
A 348 g - 0.0 0o — — — - 0.0 tv 10| XN FLy R4 — v
G& k) 3 1 4 £ 0| 256 ~ 323 ||nhvt —
LA | SHE g — — — — — — — — - Fn - b
(F &) 0% *n 2417y — v
hvFt BB SHE — 02| — 09| — 02 — 13 by 61 ] 0.2ty
G)) 6 10 6 2 % 0 ERD) 0.0 kv
hvFt BB g — 0.5 0.3 07| — 05 — 20 by 64 ] 0.9 tv
(hOtEsR) 8 3 10 10 31 & 0 ERD) —
hvFt BB g — 01| — 04| — — — 0.6 by 41 ] 0.1ty
(F 1k) 2 12 14 &£ 0 ERD) — b
huA B i3 SHE — 06 — 06 — — — 12 by 83(hvATFly |evs 05 by
(tk &) 4 1 15 & 0| 413 ~ 429 |32 — b
huA B 18 BHE 0.0 1.1 0.2 14 — 14 — 42ty 13(hvAFy  Evs 33ty
G& k) 1 13 2 32 9 57 & ¥0[ 348 ~ 1252|337 00 by
hvFt = #® EHR — 02| — — — 05| — 0.7 by 350 ] 0.8 tv
GREM) G 1 1 2 & 0 ERD) 0.0 tv
huA £ g 40 8.1 2.3 26 — 10.4 58( 331ty 4,143 ] 48 tv
(GREMm) (F %) 1 1 1 2 2 1 8 & *n ERD) 0.0 tv
hvt £ 8 A AL — 1.8 2.1 1.9 16| — 22 9.6 bV 1.919|hVAFy  ||E'V4 14ty
GREM) 1 1 1 1 1 5 & *0| 265 ~ 506 [337 — b
hvt =8 g — — 19 — — 44| — 6.3 kv 3,163 (] 21 by
GBEM) (£ &) 1 1 2 £ %0 Emb] — b
HhuFt £ BHE — 3.7 6.4 02 -— 6.8 18| 189 v 1,347|hVAFY  ||E'V4 08 v
GREM) (& K) 4 3 1 4 2 14 € ¥0| 398 ~ 1031|337 0.0 by
HhuFt £ 8 AR — — — — — 57| — 5.7 b 5,742 ] 14ty
(K& ) (& B) 1 1€ %0 Emb] — b
hoFt =8 AR — — — — — — — — b — E'v4 — b
(K& ) (& K) 08 %0 Emb] — b
Evs L= BHE — 02 — 03[ — — — 05 by 32 hyx 12 by
£ &) 4 11 15 & %0 Emb] - b
Evs L R 0.0 0.6 0.1 17 — 08 — 33ty 58 hyA 42ty
G& K) 1 13 2 32 9 57 & 0 ERp) 0.0 tv
337 BB g — 00| — — — — — 00 tv 0 hy# 13 bv
(B @) 6 2 & 0 [ 02 bty
E=Ly) B’ R — — — — — — — — b - hy# 20 by
(hN%ESR) 08 *n (%S 0.9 bv
337 L= g — — — — — — — — b - hy# 0.6 bv
(F 1k) 0% 0 ] 0.1 kv
337 L SR — — — — — — — — b - hy# 12 by
(k&) 0% 0 ] 0.5 by
E=Ly) B’ AR — 00| — — — — — 00 tv 0 hy# 42ty
G& K) 13 57 & 0 ] 33 by
AT BB AR — — — — — — — — -
(F/miT) 08 0 ~
AT BB AR — — — — — — — — -
GF K) 08 *n ~

FD 2~




BEBERNAES (ZT0D2) SEETHIR 2024%5H7H ~ 20244581380
78 sk B RES (L) LKIGER(TER) 1H1E p2X i 5 #
(X ) 5/7 | 5/8 | 5/9 | 5/10 | 5/11 | 5/12 | 5/13 | @&t BES (A%0)  |[(Rdk BER)
D5R | INyFHE 7z = — 03| 06 o1 01| — — 1.1 by 29
14 15 5 1 35 # 0| 840 ~ 1241
D5R | INyFHE ZEPHT — — 0.1 0.1 00| — — 02 v 80
1 1 1 3 # *n| 761 ~ 952
SR | Sy FiE &% # — — — — — - — - b —
0 # ¥ ~
SR | IRyFA EHR — — — — — - — — b —
(E%F/) 0 ## 0 ~
45 FEH =gl — 03| — 1.1 20 — — 34y 485
(F #) 1 3 3 7E *n
D2 FEH =gl — 03| — — — — — 0.3 v 270
(& &) 1 1€ *n| 130 ~ 130
AL A B & EHR — — — — — — — — b -
17 (hnsESER) 08 0 ~
AILA B & EHE — — — — — — — — -
A4h G& X) 0E *n
AL A ®' 8 EEHR — — — — — — — — b —
17 (B @) 0E 0
MEID| I #E BHE gaehya| Fng | YE | ANF | AT | bk | BV REE 1€ [1854Y
EiRE (B @) — — 14| — — — — 14K | 14K
EEH X e 7 A8 | 7Y | YNEE | 490 | A | hESF &% S5 A% |20t 5 74k 1K
B X | TER 3 K&K 00| 106 49 08| — — — 498 +v | 6 HFE 335 by [ ok 2528 &
EEH X % % 7 A8 | 7Y | YNEE | 490 | A | hEsF a5t £ R [T Ot 5 74k 17 K
B X | TER 2 K& 0.1 10 52 13 — 03| — 337t | 6 HFE 25.8 bv AV 0#k 207 &
F=EW kA ILBE WUTY T TV | YNEE | 49 | A | haYF 7 # |14y | T 0t F
B X | F=8 B % 00| — — — — 34| 302 3381}y 48k 0.1ty

M—1:8ELL.

r0.0by ] : 2 0kg Ll _E50kg R .

roxoy:1H1&€/RES0kgll L05kgR i




